Journal of New Results in Science
https://dergipark.org.tr/en/pub/jnrs

# On some identities and Hankel matrices norms involving new defined generalized modified pell numbers 

Gül Özkan Kızılırmak ${ }^{1}$ (D)

Keywords
Modified Pell
Numbers,
Hankel Matrices,
Matrix Norms


#### Abstract

The aim of this paper is to introduce a generalization of Modified Pell numbers. Some identities about this new sequence are obtained and also investigated some relationships with another sequence. Finally, using these sequences the row and column norms of the Hankel matrices are presented.


Subject Classification (2020): 11B37, 11K31.

## 1. Introduction

In the literature, there are many integer sequences defined by a recurrence relation [1-3]. These sequences have been studied in many areas. One of the mentioned sequences is the Pell sequence. Pell sequence can be defined as [4]:

$$
\begin{equation*}
P_{n+1}=2 P_{n}+P_{n-1} \tag{1.1}
\end{equation*}
$$

for $n \geq 1$ with initial conditions $P_{0}=0$ and $P_{1}=1$.
The Pell-Lucas $\left\{Q_{n}\right\}$ and Modified Pell $\left\{q_{n}\right\}$ sequences are defined by the same recurrence but the initial conditions such as $Q_{0}=Q_{1}=2$ and $q_{0}=q_{1}=1$ respectively [5].

There are a lot of studies on the generalization of these sequences [6-10]. A generalization of the Pell and Pell-Lucas numbers are defined as follows [11]:

$$
\begin{equation*}
P_{k, n}=k P_{k, n-1}+(k-1) P_{k, n-2} \tag{1.2}
\end{equation*}
$$

for $n \geq 2$ and with initial conditions $P_{k, 0}=0$ and $P_{k, 1}=1$.
$Q_{k, n}=k Q_{k, n-1}+(k-1) Q_{k, n-2}$, for $n \geq 2$ with initial conditions $Q_{k, 0}=Q_{k, 1}=2$.

[^0]If $k=2$ in (1.2), we get Pell and Pell-Lucas numbers. $P_{k, n}$ and $Q_{k, n}$ have characteristic equation as follow:

$$
\begin{equation*}
r^{2}-k r+1-k=0 \tag{1.3}
\end{equation*}
$$

Since $k \geq 2$, the characteristic equation has two roots

$$
\begin{equation*}
r_{1}=\frac{1}{2}\left(k-\sqrt{k^{2}+4 k-4}\right), r_{2}=\frac{1}{2}\left(k+\sqrt{k^{2}+4 k-4}\right) . \tag{1.4}
\end{equation*}
$$

$P_{k, n}$ and $Q_{k, n}$ have Explicit formulas for their general terms as follows:

$$
\begin{equation*}
P_{k, n}=\frac{r_{1}^{n}-r_{2}^{n}}{r_{1}-r_{2}}, Q_{k, n}=\frac{2\left(1-r_{2}\right) r_{1}^{n}+2\left(r_{1}-1\right) r_{2}^{n}}{r_{1}-r_{2}} . \tag{1.5}
\end{equation*}
$$

In addition, the expression of the sum of the first terms of the $P_{k, n}$ and $Q_{k, n}$ series is as follows:

$$
\begin{equation*}
\sum_{r=0}^{n} P_{k, r}=\frac{1}{2(k-1)}\left((k-1) P_{k, n}+P_{k, n+1}-1\right), \sum_{r=0}^{n} Q_{k, r}=\frac{1}{2(k-1)}\left((k-1) Q_{k, n}+Q_{k, n+1}+2 k-4\right) . \tag{1.6}
\end{equation*}
$$

A Hankel matrix [12] is an $n \times n$ symmetric matrix $H_{n}=\left(h_{i j}\right)$, where $h_{i j}=h_{i+j-1}$, that is a matrix of the form

$$
H_{n}=\left[\begin{array}{ccccc}
h_{1} & h_{2} & h_{3} & \cdots & h_{n} \\
h_{2} & h_{3} & h_{4} & \cdots & h_{n+1} \\
\vdots & \vdots & \vdots & \ddots & \vdots \\
h_{n} & h_{n+1} & h_{n+2} & \cdots & h_{2 n-1}
\end{array}\right] .
$$

Column norm $\left\|H_{n}\right\|_{1}$ and row norm $\left\|H_{n}\right\|_{\infty}$ of Hankel matrix are equivalent and defined as follows:

$$
\begin{equation*}
\left\|H_{n}\right\|_{1}=\max _{i \leq j \leq 1} \sum_{i=1}^{n}\left|h_{i j}\right|=\left\|H_{n}\right\|_{\infty} \tag{1.7}
\end{equation*}
$$

In this paper, a new generalization of Modified Pell numbers is defined. Then,the generating function, Binet formula, and some identities are obtained. Finally, some special cases of Hankel matrices involving $P_{k, n}$ and $q_{k, n}$ are studied.

## 2. One-Parameter Generalization of Modified Pell Numbers

In this section, the Modified Pell numbers $q_{k, n}$ is defined. Then, the generating function, the Binet Formula and some identities are obtained.
Definition 2.1. Let $k \geq 2$ be an integer. Then, we define generalized Modified Pell Numbers $q_{k, n}$ as follows:

$$
\begin{equation*}
q_{k, n}=k q_{k, n-1}+(k-1) q_{k, n-2} \tag{2.1}
\end{equation*}
$$

for $n \geq 2$ and with initial conditions $q_{k, 0}=q_{k, 1}=1$.
The characteristic equation associated to (2.1) is

$$
\begin{equation*}
r^{2}-k r+1-k=0 \tag{2.2}
\end{equation*}
$$

This equation has two roots

$$
\begin{equation*}
r_{1}=\frac{1}{2}\left(k-\sqrt{k^{2}+4 k-4}\right), r_{2}=\frac{1}{2}\left(k+\sqrt{k^{2}+4 k-4}\right) . \tag{2.3}
\end{equation*}
$$

Moreover, the following equations hold true:

$$
\begin{gather*}
r_{1}+r_{2}=k  \tag{2.4}\\
r_{1} r_{2}=1-k \tag{2.5}
\end{gather*}
$$

Theorem 2.2. The generating function for the generalized modified pell numbers is

$$
\begin{equation*}
H\left(q_{k, n} ; x\right)=h_{k}(x)=\sum_{n=0}^{\infty} q_{k, n} x^{n}=q_{k, 0}+q_{k, 1} x+q_{k, 2} x^{2}+\ldots+q_{k, n} x^{n}+\ldots \tag{2.6}
\end{equation*}
$$

## Proof.

Using the initial conditions, we get

$$
\begin{equation*}
h_{k}(x)=1+x+\sum_{n=2}^{\infty}\left(k q_{k, n-1}+(k-1) q_{k, n-2}\right) x^{n} \tag{2.7}
\end{equation*}
$$

By doing some calculations on the right side of the equation (2.7), we get

$$
\begin{aligned}
1+x+\sum_{n=2}^{\infty}\left(k q_{k, n-1}+(k-1) q_{k, n-2}\right) x^{n} & =1+x+k x \sum_{n=2}^{\infty} q_{k, n-1} x^{n-1}+(k-1) x^{2} \sum_{n=2}^{\infty} q_{k, n-2} x^{n-2} \\
& =1+x+k x \sum_{n=1}^{\infty} q_{k, n} x^{n}+(k-1) x^{2} \sum_{n=0}^{\infty} q_{k, n} x^{n} .
\end{aligned}
$$

By using equation (2.6), we obtain

$$
h_{k}(x)=1+x-k x+k x h_{k}(x)+(k-1) x^{2} h_{k}(x) .
$$

Hence, we have

$$
h_{k}(x)=\frac{1+x-k x}{1-k x-(k-1) x^{2}}
$$

Theorem 2.3. (Binet's Formula) The nth Generalized Modified Pell Number is given by

$$
\begin{equation*}
q_{k, n}=\frac{\left(1-r_{2}\right) r_{1}^{n}+\left(r_{1}-1\right) r_{2}^{n}}{r_{1}-r_{2}} \tag{2.8}
\end{equation*}
$$

where $r_{1}, r_{2}$ are given in (2.3).

## Proof.

Since the equation (2.2) has two distinct roots, the sequence

$$
\begin{equation*}
q_{k, n}=e r_{1}^{n}+f r_{2}^{n} \tag{2.9}
\end{equation*}
$$

is the solution of the equation (2.1). Putting $q_{k, 0}=q_{k, 1}=1$ we get $e+f$ and $e r_{1}+f r_{2}=1$. If we solve this system of linear equations, we obtain $e=\frac{1-r_{2}}{r_{1}-r_{2}}$ and $f=\frac{r_{1}-1}{r_{1}-r_{2}}$.
Using these values and (2.9) we obtain (2.8) as required.

Corollary 2.4. Let $k$ and $n$ be integers and $k \geq 2$ and $n \geq 0$. Then, we get

$$
2 q_{k, n}=Q_{k, n}
$$

## Proof.

By using (1.5), we can prove it.
Corollary 2.5. Let $k$ and $n$ be integers and $k \geq 2$ and $n \geq 0$. Then, we get

$$
q_{k, n}=P_{k, n}+(k-1) P_{k, n-1}
$$

## Proof.

By using (2.8) we get

$$
q_{k, n}=\frac{\left(1-r_{2}\right) r_{1}^{n}+\left(r_{1}-1\right) r_{2}^{n}}{r_{1}-r_{2}}=\frac{r_{1}^{n}-r_{2}^{n}}{r_{1}-r_{2}}+\frac{r_{2}^{n} r_{1}-r_{1}^{n} r_{2}}{r_{1}-r_{2}}=\frac{r_{1}^{n}-r_{2}^{n}}{r_{1}-r_{2}}-r_{1} r_{2} \frac{r_{1}^{n-1}-r_{2}^{n-1}}{r_{1}-r_{2}}
$$

Using (2.5), we have

$$
q_{k, n}=P_{k, n}+(k-1) P_{k, n-1} .
$$

Corollary 2.6. Let $k$ and $n$ be integers and $k \geq 2$ and $n \geq 0$. Then, we obtain

$$
q_{k, n}=P_{k, n+1}-(k-1) P_{k, n}
$$

## Proof.

By using Corollary 2.5 , we can proof it.
Theorem 2.7. (Catalan's Identitiy) For any positive integer $r$, we get

$$
q_{k, n-r} q_{k, n+r}-q_{k, n}^{2}=-2(1-k)^{n-r+1} P_{k, r}^{2}
$$

## Proof.

Using (2.8), we have

$$
\begin{aligned}
q_{k, n-r} q_{k, n+r}-q_{k, n}^{2} & =\frac{\left(1-r_{2}\right) r_{1}^{n-r}+\left(r_{1}-1\right) r_{2}^{n-r}}{r_{1}-r_{2}} \frac{\left(1-r_{2}\right) r_{1}^{n+r}+\left(r_{1}-1\right) r_{2}^{n+r}}{r_{1}-r_{2}}-\left(\frac{\left(1-r_{2}\right) r_{1}^{n}+\left(r_{1}-1\right) r_{2}^{n}}{r_{1}-r_{2}}\right)^{2} \\
& =\frac{\left(1-r_{2}\right) r_{1}^{n-r}\left(r_{1}-1\right) r_{2}^{n+r}+\left(1-r_{2}\right) r_{1}^{n+r}\left(r_{1}-1\right) r_{2}^{n-r}-2\left(1-r_{2}\right) r_{1}^{n}\left(r_{1}-1\right) r_{2}^{n}}{\left(r_{1}-r_{2}\right)^{2}} \\
& =\frac{\left(1-r_{2}\right)\left(r_{1}-1\right)\left(r_{1} r_{2}\right)^{n}}{\left(r_{1}-r_{2}\right)^{2}}\left(r_{1}^{-r} r_{2}^{r}+r_{1}^{r} r_{2}^{-r}-2\right) \\
& =\frac{\left(1-r_{2}\right)\left(r_{1}-1\right)\left(r_{1} r_{2}\right)^{n}}{\left(r_{1}-r_{2}\right)^{2}} \frac{\left(r_{1}^{-2 r_{2}}+r_{2}^{2 r}-2\left(r_{1} r_{2}\right)^{r}\right)}{\left(r_{1} r_{2}\right)^{r}} \\
& =\frac{\left(1-r_{2}\right)\left(r_{1}-1\right)\left(r_{1} r_{2}\right)^{n}}{\left(r_{1}-r_{2}\right)^{2}}\left(r_{1}^{-r}-r_{2}^{r}\right)^{2} \\
& =\left(r_{1} r_{2}\right)^{n-r}\left(r_{1}-r_{1} r_{2}-1+r_{2}\right)\left(\frac{r_{1}^{-r}-r_{2}^{r}}{r_{1}-r_{2}}\right)^{2}
\end{aligned}
$$

By using (2.5) and (1.5), we get

$$
\begin{aligned}
q_{k, n-r} q_{k, n+r}-q_{k, n}^{2} & =(1-k)^{n-r}(2 k-2) P_{k, r}^{2} \\
& =-2(1-k)^{n-r+1} P_{k, r}^{2}
\end{aligned}
$$

Theorem 2.8. Let $m, n$ be positive integers and $m \geq n$. Then, we get

$$
q_{k, m} q_{k, n+1}-q_{k, m+1} q_{k, n}=(1-k)^{n+1} P_{k, m-n} .
$$

## Proof.

By using (2.8), we have

$$
\begin{aligned}
& q_{k, m} q_{k, n+1}-q_{k, m+1} q_{k, n}=\frac{\left(r_{2}-1\right) r_{1}^{m}+\left(1-r_{1}\right) r_{2}^{m}}{r_{2} r_{1}} \frac{\left(r_{2}-1\right) r_{1}^{n+1}+\left(1-r_{1}\right) r_{2}^{n+1}}{r_{2}-r_{1}} \\
& -\frac{\left(r_{2}-1\right) r_{1}^{2 m+1}+\left(1-r_{1}\right) r_{2}^{m+1}}{r_{2}\left(r_{1}\right.} \frac{\left(r_{2}-1\right) r_{1}^{2}+\left(1-r_{1}\right) r_{1}^{n}}{r_{2}-r_{1}} \\
& =\left(r_{2}-1\right)\left(1-r_{1}\right) \frac{\left(r_{1} r_{2}\right)^{n}\left(r_{1}^{m-n} r_{2}+r_{2}^{m-n} r_{1}-r_{1}^{m-n+1}-r_{2}^{m-n+1}\right)}{r_{2}} \\
& =\left(r_{2}-1\right)\left(1-r_{1}\right)\left(r_{1} r_{2}\right)^{n} \frac{r_{1}^{m-n}-r_{2}^{\left(r_{2}-r_{1}\right.} r_{1}}{r_{2}-r_{1}} .
\end{aligned}
$$

Using (2.5), we get

$$
q_{k, m} q_{k, n+1}-q_{k, m+1} q_{k, n}=(1-k)^{n+1} P_{k, m-n} .
$$

Theorem 2.9. For all integers $k \geq 2$ and $n \geq 0$ we obtain

$$
\sum_{i=0}^{n} q_{k, i}=\frac{1}{2(1-k)}\left((1-k) q_{k, n}-q_{k, n+1}+2-k\right) .
$$

## Proof.

Note that

$$
\begin{aligned}
& \sum_{i=0}^{n} q_{k, i}=\frac{\left(1-r_{2}\right)}{r_{1}-r_{2}} \sum_{i=0}^{n} r_{1}^{n}+\frac{\left(r_{1}-1\right)}{r_{1}-r_{2}} \sum_{i=0}^{n} r_{2}^{n}=\frac{\left(1-r_{2}\right)}{r_{1}-r_{2}}\left(\frac{1-r_{1}^{n+1}}{1-r_{1}}\right)+\frac{\left(r_{1}-1\right)}{r_{1}-r_{2}}\left(\frac{1-r_{2}^{n+1}}{1-r_{2}}\right) \\
& =\frac{\left(1-r_{2}\right)^{2}\left(1-r_{1}^{n+1}\right)-\left(r_{1}-1\right)^{2}\left(1-r_{2}^{n+1}\right)}{\left(r_{1}-r_{2}\right)\left(1-r_{1}\right)\left(1-r_{2}\right)}=\frac{1}{\left(1-r_{1}\right)\left(1-r_{2}\right)}\left(\frac{-\left(r_{1}^{n+1}\right)\left(1-r_{2}\right)-r_{2}^{n+1}\left(r_{1}-1\right)}{\left(r_{1}-r_{2}\right)}\right. \\
& \left.+r_{1} r_{2} \frac{\left(r_{1}^{n}\left(1-r_{2}\right)+r_{2}^{n}\left(r_{1}-1\right)\right)}{\left(r_{1}-r_{2}\right)}+\frac{2\left(r_{1}-r_{2}\right)-\left(r_{1}+r_{2}\right)\left(r_{1}-r_{2}\right)}{r_{1}-r_{2}}\right)
\end{aligned}
$$

By using (2.5), (2.8) and by noting that $\left(1-r_{1}\right)\left(1-r_{2}\right)=2(1-k)$, we get

$$
\sum_{i=0}^{n} q_{k, i}=\frac{1}{2(1-k)}\left(-q_{k, n+1}+(1-k) q_{k, n}+2-k\right) .
$$

## 3. Norms of Hankel Matrices Involving $q_{k, n}$ and $P_{k, n}$

In the literature, some important works have been done about norms of some matrices especially, the norms and bounds for the norms of Hankel matrix involving some integer sequences were studied [11],[12]. In this section, we obtain row and column norms of the Hankel matrix using $q_{k, n}$ and $P_{k, n}$.
Theorem 3.1. Let $A$ be a $n \times n$ matrix with $a_{i j}=P_{k, i+j-1}$. Then, we have

$$
\|A\|_{1}=\|A\|_{\infty}=\frac{1}{2(k-1)}\left(q_{k, 2 n}-q_{k, n}\right) .
$$

## Proof.

Using $a_{i j}=P_{k, i+j-1}$, we get
$\|A\|_{1}=\max _{i \leq j \leq 1} \sum_{i=1}^{n}\left|a_{i j}\right|=\max _{i \leq j \leq 1}\left\{\left|a_{1 j}\right|+\left|a_{2 j}\right|+\ldots+\left|a_{n j}\right|\right\}=P_{k, n}+P_{k, n+1}+\ldots+P_{k, 2 n-1}=\sum_{i=0}^{2 n-1} P_{k, i}-\sum_{i=0}^{n-1} P_{k, i}$.

Now using (1.6) and Corollary 2.5, we get

$$
\|A\|_{1}=\frac{1}{2(k-1)}\left((k-1) P_{k, 2 n-1}+P_{k, 2 n-1}\right)-\frac{1}{2(k-1)}\left((k-1) P_{k, n-1}+P_{k, n-1}\right)=\frac{1}{2(k-1)}\left(q_{k, 2 n}-q_{k, n}\right) .
$$

Theorem 3.2. Let $B$ be a $n \times n$ matrix with $b_{i j}=q_{k, i+j-1}$. Then, we get

$$
\|B\|_{1}=\|B\|_{\infty}=\frac{1}{2(1-k)}\left((k-2)\left(P_{k, 2 n+1}-P_{k, n+1}\right)-k(k-1)\left(P_{k, 2 n}-P_{k, n}\right)\right) .
$$

## Proof.

Using Theorem 2.9, Corollary 2.5 and Corollary 2.6, we obtain

$$
\begin{aligned}
\|B\|_{1} & =q_{k, n}+q_{k, n+1}+\ldots+q_{k, 2 n-1} \\
& =\sum_{i=0}^{2 n-1} q_{k, i}-\sum_{i=0}^{n-1} q_{k, i} \\
& =\frac{1}{2(1-k)}\left((1-k) q_{k, 2 n-1}-q_{k, 2 n}-(1-k) q_{k, n-1}+q_{k, n}\right) \\
& =\frac{1}{2(1-k)}\left(-q_{k, 2 n+1}+(k-1) q_{k, 2 n}+q_{k, n+1}+(1-k) q_{k, n}\right. \\
& =\frac{1}{2(1-k)}\left(( k - 2 ) \left(-P_{k, 2 n+1}-(k-1) P_{k, 2 n}+(k-1) P_{k, 2 n+1}-(k-1)^{2} P_{k, 2}\right.\right. \\
& +P_{k, n+1}+(k-1) P_{k, n}+(1-k) P_{k, n+1}-(k-1)^{2} P_{k, n} \\
& =\frac{1}{2(1-k)}\left((k-2)\left(P_{k, 2 n+1}-P_{k, n+1}\right)-k(k-1)\left(P_{k, 2 n}-P_{k, n}\right)\right) .
\end{aligned}
$$

## Author Contributions

The author read and approved the final version of the manuscript.

## Conflicts of Interest

The author declares no conflict of interest.

## References

[1] A. F. Horadam, Jacobsthal representation numbers, Fibonacci Quarterly, 34, (1996), 40-54.
[2] T. Koshy, Fibonacci and Lucas numbers with applications, John Wiley and Sons Inc., New York, 2001.
[3] G. K. Panda, Sequence balancing and cobalancing numbers, Fibonacci Quarterly, 45, (2007), 265-271.
[4] A. F. Horadam, Pell identities, Fibonacci Quarterly, 9, (1971), 245-252.
[5] S. Halici, On some inequality and Hankel matrices involving Pell, Pell Lucas numbers, Mathematical Reports, 15, (2013), 1-10.
[6] G. Bilgici, New generalizations of Fibonacci and Lucas numbers, Applied Mathematical Sciences, 8,
(2014) 1429-1437.
[7] S. Falcon, A. Plaza, On the Fibonacci $k$-numbers, Chaos Solitions and Fractals, 32, (2007) 1615-1624.
[8] A. Szynal-Liana, , A. Wloch, I. Wloch, On generalized Pell numbers generated by Fibonacci and Lucas numbers, Ars Combinatoria, 115, (2014), 411-423.
[9] D. Tasci , E. Sevgi , Bi-periodic balancing numbers, Journal of Science and Arts, 50, (2020), 75-84.
[10] O. M. Yayenie, A. Edson, New generalization of Fibonacci sequences and extended Binet's formula, Integers, 9, (2009), 639-654.
[11] L. Trojnar-Spelina, I. Wloch, On generalized Pell and Pell Lucas numbers, Iranian Journal of Science and Technology, Transactions A: Science, 43, (2019), 2871-2877.
[12] P. Vasco, P. Catarino, H. Campos,, A. P. Aires, A. Borges, $k$-Pell, $k$-Pell-Lucas and modified $k$-Pell Numbers: Some identities and norms of Hankel matrices, International Journal of Mathematical Analysis, 9,(2015), 31-37.


[^0]:    ${ }^{1}$ gulozkan@gazi.edu.tr (Corresponding Author)
    ${ }^{1}$ Department of Mathematics, Faculty of Science, Gazi University, Ankara,Turkey Article History: Received: 01 Sep 2021 - Accepted: 30 Nov 2021 - Published: 31 Dec 2021

